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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 fw v =R faswedl # @ A & 713 RS & ST H dFd arer wE vl ]
o= Question ID : 9864493759
? Status : Answered
Problem Figure Chosen Option :1
X ]
=)
Answer Figures
= ) ) )
X gl |2 x| |x %
A B C D

From the given four answer figures choose the correct water image of the problem figure.

Problem Figure
X ]
-

Answer Figures

X
[
]
X
X
]
X
@

Ans «"1C
X2D
3B
x4 A

Q.2 : : :
oA foT ereel & S8 # F FATT qeS-ZIA F TIA F| Question 1D : 9864494289

S - Status : Answered
HerIfd @ 3T w&wT
Select the word pair that is analogous to the given word pair.

Sankranti : Andhra Pradesh

Chosen Option :1

Ans STTTET © 9=TE

Onam : Kerala




T e TR L S

Which of the following has NO unit?

Ans

e

| Displacement

vz A fEs ga3cT
Relative density
HED

. Pressure
e

4,
Density

<1

K3

Question ID : 9864493559
Status : Answered
Chosen Option :2

Q4 Hrr & o wply H g F T FH G FH R dedh @it &
STERAFHAT gRIT?

I ]

A L B
E | F

HM G

D [

‘What is the minimum number of straight lines required to construct the given figure?

I ] K

D [e
ans o 117
X 214

<316
<418

Question ID : 9864493789
Status : Not Answered
Chosen Option : --

Q.5 FEEafa A o e & T SR F ArCTH W T Gieif P S0 Far AT
Reproducing new plants by cells instead of vegetative parts or seeds is called:

xmagﬁ'e;igsr

Ans

multiple fission

frarsF=T
w2 ®
tissue culture

AEERRETCET
X3
binary fission
ECREE )
4.9

regeneration

x

Question ID : 9864493558
Status : Answered
Chosen Option : 2

Q.6 TE=foE deat § & FiT T g7 TA deal ITor T WA F ATy
AT T TF ] 3o R 1 e Aewar T 87

‘Which of the following elements has the unique ability to form bonds with other atoms of
the same element giving rise to large molecules?

xtmsa’m‘rr

Nitrogen

Ans

Question ID : 9864493291
Status : Not Answered
Chosen Option : --




Aluminium
FET

Carbon

o 4
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Q.7

Ans

ANRBw s A0 T AW FFI 8, BN CH 0 RF A q@
& THS ¥, Fafh C 3T A 55 & & 24 & F qu & wahd §1 A, B 3R
C s AR 3o §H & &1 el fod & q & 5 87

A and B can complete a task in 40 days. B and C can complete it in 30 days while C and A
can complete the same task together in 24 days. How many days will each of A, B and C
take to complete the task individually?

(1_60, 120 31X 40
60, 120 and 40

, 48, 96 3R 32
48, 96 and 32

5 32, 48 3T 96
32, 48 and 96

, 40, 120 3R 60
40, 120 and 60

x

X

x

Question ID
Status
Chosen Option

19864492990
: Answered
1

Q.8

A TEAF 3 T A-TOEE AL TU 0% F 34 & d=-atag & aue fde
TY gger A Al 3H AT T A T AT F IR 9¥ IE F 37 F TET grehl
T IEAT 37 1 27

Two-thirds of my current age is the same as three-fourths of that of one of my cousins’.
My age three years ago will be his age four years hence. My current age is years.

Question ID
Status

Chosen Option :

19864492672
:Not Attempted and

Marked For Review

Ans ( 1. 63
X281
X 354
X 472
YIR= i Question ID : 9864493986
1 2
& ﬁ. ﬁ Status : Not Answered
3 5 5 Chosen Option : --
=]I=

Ans

afy R aw RSt &1 Fae v I 3 w6 S WAg ST S W, at &

wE g
e
5|9
==

If three groups could be formed using the given figures only once, these groups would be

v (147), (236) 3T (598)
(14,7), (2,3,6) and (5.9.8)




2 (1,4,7), (5,3,6) 3t (Vz\f\gl\,lg)v
(1.,4,7), (5.3.6) and (2,9.8)
L (147), (298) 3R (5,3,8)
(1,4,7). (2,9.6) and (5.3.8)
4 (2,4,7), (1,3,6) 3T (5,9,8)
(2,4,7), (1,3,6) and (5,9.8)

x
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Q.10 = FgUe 5x2 — 7x + 2 o YA o 3R B, T IeTeh SGeoha &1 AT 21 gram?

If o & B are the zeros of the polynomial 5x2 — 7x + 2 then the sum of their reciprocals
is

Ans 7?( .
x>
Vs
X

rElEA R A B | =]

Question ID : 9864492455

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.11 fgait (- 5, 5) 3K (7, -3) A [W@-@UE F FANF T F 31 & IS A
fanfoa = T g & e a7 €2
The coordinates of the point that divides the line segment joining the points (— 5, 5) and

(7. —3) internally in the ratio 3 : 1 are given by:

Ans XL(_ 2, 3)
X2 0)
Ka(1, 1)
a4, -1

Question ID : 9864492875

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q12 R Fefeege T #, Rege 3= § REfia @ o = #T @ 22

In a hydro-electric power station ultimately which energy is converted into electrical
energy?

Ans v aifesT Far
Kinetic energy

x 2 Rufas =
Potential energy

FSHT FaAr
< 3.
Heat energy
iy Far
X4
Mechanical energy

Question ID : 9864493322
Status : Answered
Chosen Option : 2

Q.13 ABC$+#DEF&=?GHI'2*@ &H &I 39411 & e, et e & o s
il

ASD Gl @

Using the sequence ABCS+#DEF&="GHI!2*(@, fill in the blank given in the following

Question ID : 9864493963
Status : Answered
Chosen Option : 3

expression.

A$D G'@

Ans X1F
K27
v g
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Q.14 Pr=afafls s@mer &, 7o fE (7) & T W A T 38T F 93T F

D,GK 2,V

In the following letter series, one letter is missing as shown by the question mark (?).
Select the missing letter from the given options.

D,G,K, 2,V
Ans ( 1P
< 2R
K3 M
XL

Question ID : 9864494271
Status : Answered
Chosen Option : 1

Q15 vety faery &1 ARET-HATET d@g3t Fia 82
Which Indian American is the CEO of Adobe Systems?

Ans aﬁa?;:r ARTIOT

v
Shantanu Narayen

| it e
Francisco D’Souza

Skl

X

<
Sanjay Kumar Jha
x o T T
Sundar Pichai

Question ID : 9864492395
Status : Answered
Chosen Option :1

181 T 2020 F HT @A FEM?
What day would it be on 1%t March 20207

Ans m
F !
Monday

x 2, TR
Saturday
AT

X 3.

Friday

v T

Sunday

Question ID : 9864492833
Status : Answered
Chosen Option : 2

Q.17 v Wie # WA & 63 3 e U A 84% 3P WItd T & ST
girem fraer 3 $r e

Tn a test Paran secured 63 marks that was also equivalent to obtaining 84% marks. How
many marks was the test out of?

Question ID : 9864492987
Status : Answered
Chosen Option : 2

ans X 1. 65
V275
X 2 80
X485

Question ID : 9864492547




g smhamr dag gy T Chosen Option : 4

m#nﬂﬁao%aﬁrqﬁ'ﬁmﬁrélmﬁ%%%yggpﬂalert'In Status : Answered

The price of the sugar goes up by 30%. By what percent should Sita reduce her
consumption so that the expenditure does not increase?

Ans (1. 229
< 2. 23%

1
522 %
K3 225%

1
4. 23 =94
« G ()

Q.19 [63—(-3){-2—-8-3}]+3{6+(-2)(-1)}=? Question ID : 9864492459

[63—(—3){-2—8—3}=3{6+(-2) (-1} =2 Status :Not Attompted and
Ans ?( 1.3 Chosen Option : --
K22
K30
vl
Q.20 TTHTIT &= T m AT T ST
) r L2l & fo %7 Question ID : 9864493053
‘What is the radius of an atom used to measure? Status : Ir;lIIOt If«t;e;npt;d a_nd
Ans . arked For Review
x1_ |[3||i deb HEI Chosen Option : --

Atomic number
) qIAOTSHAr
Atomicity
X3 qAIOTS FeadT

Atomic mass

«4_mﬁa$m

Atomic size
21 o ; 5
02 =frs viq g@en w AgedT & fPua &7 Question ID : 9864492120
In which continent is the Andes Mountain range situated? Status : Not Attempted and

Marked For Review

Ans Chosen Option : -

< KN
Europe

X2 2
Australia

3 graroT E
South America
3hTeRT

X 4
Africa

Q.22 TRurfey a7 3mmepfay 7 gU TR o HRUT T TEG H AR FiT bl gl el 5
The energy possessed by a body due to its change in position or shape is called:

Question ID : 9864493361
Status : Answered

Ans ﬁﬂﬁ? Hﬁ- Chosen Option : 1
1.

v :
potential energy



X 2 TETafe® Fr
chemical energy

NLICEEE]
kinetic energy
TTHAT] FaAT

x

< 4

nuclear energy
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Q.23 < & 3T A gos 2017 wiaaifEar fFa sRdT #Afser & =i &2
‘Which Indian model won the Miss World 2017 contest held in China?

Ane 1 A= Yet
Noyonika Chatterjee
| 3nfoar s1F
Alia Bhatt
Manushi Chhillar
4. m-r m
Zova Afroz

x

v

<

Question ID : 9864492231
Status : Answered
Chosen Option : 3

G 57w AT 1 WE e wiafees oo

Problem figure:

>

Answer figures:

> > S WS>

D

Problem Figure - 927 =g

Answer Figures - 3cal Ao
Choose the correct water image of the problem figure.
Problem figure:

Answer figures:
d e

Ans X1D

Question ID : 9864493907
Status : Not Answered
Chosen Option : --
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Xs3C
X< +B

Q25 iz ot 3l T @ T oAt F A A @ §2

W, e ]

1 2

Select the figure which does NOT belong to the group.

AT

1 2

Ans x11
v23
X2
X4

Question ID : 9864493709
Status : Answered
Chosen Option : 2

Q.26 g 5 weadr 2018 H WHAN & o 8 W 2019 F =T AT fe= gram?
5t February 2018 is a Monday. 8 April 2019 will be a:
Ans d

F ! [
Tuesday

{faar

| Sunday
CUEIRS

-2

| Wednesday

AHER
Monday

X2

K3

oy

Question ID : 9864492733
Status : Answered
Chosen Option : 3

Q.27 wyadt 2018 7% I9eRT FTEY F AR, HS H S dW HEs shw
T Al HiT 27

As of February 2018, who owns the Mumbai-based IPL team ‘Mumbai Indians®?

Ans X AT ==
Amitabh Bachchan
x o TEFE 3TE =fEar
Times of India
s METT T
Shah Rukh Khan
v Rremw g5t

Reliance Industries

Question ID : 9864492139
Status : Not Answered
Chosen Option : --

Q.28

Question ID : 9864493737
Status : Answered




TR HIEHT @ T 15 e mﬂ%%yygpﬁalertlrlhosen Option : 1

e 9ar §1 55% a1g 97 A% gz ¢ A 30 RrereT amr e g
3T #, 7 qfeeT H3m § 3R 40 reinfer awar g1 dRe fag 3R aen &

& =g e g &

A man travels 15 km towards east, then turns right and travels 20 km. He then turns left
and travels 30 km. Finally, he takes a right turn and covers 40 km. The shortest distance
between the starting point and the destination is:

Ans o 1. 75 km
X 250 km
< 3.80 km

2 4.100 km

Q.29 37 S-S F FqF FT S & T T HPhT F T quor gfAfET B

Problem Figure A

%

Answer Figures

Question ID : 9864494088
Status : Answered
Chosen Option :1

q\:

“4

pa

¢

™

A

Select the Answer Figure that is the correct mirror image of the given Problem Figure.

B

Problem Figure A

5

Answer Figures

C

D

i

4

7

S

A
Ans x1_A

B

X 2B
v D
X4 C

C

™

Q.30

Question ID : 9864494170
Status : Answered
Chosen Option : 1
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fafga & @)

qFded:
TN o T g &, Ay 3T AT giAash QU A€ AR, S SR AT
# A Fr argAfa A & e

AT

1. IgarTE= fATOT ot A T FOCH AL Bl
2. faers gar g1 o FeT # W FE O A, S A Y A OFAT W
e AT B
Consider the given statement true and decide which of the given assumptions is (are)
implicit.
Statement:

A teacher tells a student, “if you don’t finish your homework, you will not be allowed into
the class™.

Assumptions:
1. Discipline is a way to create effective learning.

2. The teacher will be happy not to have a student who is not punctual in his work.

o 1 A2 gt BAfea
Neither assumption I nor IT is implicit.
1 3R 2 2t fAfea &
Both assumptions I and II are implicit.

| aer Aear 1 f3fed &
Only assumption I 1s implicit.
, Ao AT 2 fafed g

Only assumption IT is implicit.

x

v

x

Q.31

Ans

et # ST Aftee fFF 9TRAT EE & AEEe H gaare T o
Under which Indian emperor's reign was the Jama Masjid in Delhi built?

Question ID : 9864492115
Status : Answered
Chosen Option : 2

Q.32 g # 7 AT FE W R B A fFE ver sefaa g g0

Ans

What happens to the ammeter reading when the length of the wire is doubled?
v TE 3l TE S g
It decreases to one half

| T8 de-situg o ue S g
It decreases to three-fourth

x

Question ID : 9864493226
Status : Answered
Chosen Option :1
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x o, T A w|Aar g govi

It remains the same
o T AT & ST §

It increases two times

Q.33 S0 H i "1 UF THATAF IEad ¢ ? Question ID : 9864493454

Status : Answered

Which of the following is a chemical change? Chosen Option : 2

Ane x 1. €O ¥ g 9% FART
 Making dry ice from CO,
| TG T EiGI
Butter turning rancid
. g T eI
| Magnetisation of iron

4.mﬂﬁawma:rm5rgﬁm

Heating a platinum wire

v

x

x

Q.34 o Faw # @@ AN FEfedl & T 3:2 §) 9@ 3uReud el i g
T fRaer & I &7

The ratio of boys and girls in a club is 3 : 2. Which of the following could be the actual
number of members? Chosen Option : 3

Question ID : 9864492445
Status : Answered

Ans X124
X216
V325
X 418

Q35 ey & a1y sl I Fgst &1 woa e 2 Question ID : 9864494360

Status : Answered
Chosen Option :2

Select the option that represents the number of triangles in the given figure.

Ans X1 g
V29
X3 7
< 410

Q36 frfafea & ¥ frw Be #1 | # Jea | 3 90w g Question ID : 9864492801

Which of the below fractions when added to g gives 37 Status : Answered

Chosen Option : 3

Ans
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Q.37 v Tyt 1 SN 3% ST SF%E Al WAl agelsl & TUR & T
ET$ &1 FACK T & T Rger F T FE @ AT = @
The base of a triangle is one-third of the base of a parallelogram having the same area as

that of the triangle. The ratio of the corresponding heights of the triangle to the
parallelogram will be:

Ans X'1.3:2
K241
K331
v

Question ID : 9864492915
Status : Not Answered
Chosen Option : --

Q.38 va geATeH= Uit I 1000 F S8 T FToet FreT F8 T &1 100 F T[0T &t X
SToe AT W 10.06 HTE §| U=TcHE Ui AT HIieTe|

A positive integer, which when added to 1000, gives a sum which is greater than 10.06
when it is multiplied by 100. This positive integer is:

Ans x1.1
X25
V7
K43

Question ID : 9864492504
Status : Not Answered
Chosen Option : --

Q'”ﬁ:&‘mamﬁa@qﬁuaqaa:rmaﬁl

E1, H2, K6, N24,

Select the missing term in the given sequence.

El, H2Z, K6, N24,
Ans X 1. Q720
v'2.Q120
X< 3 P120
X 4.Q72

Question ID : 9864494049
Status : Answered
Chosen Option :2

Q.40

Question ID : 9864493971
Status : Answered
Chosen Option : 4
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Sugar- 2FRT Wheat- T’IE Rice- =IaeT Others- 3=
femm wrar w1 = Fo wEel Hr A YaER B e F qA

I e &1 YEer 6000 Z B, & FA gEr = gl

The given pie chart represents the annual yield of certain crops, in tons.

If the yield of sugar is 6000 tons, then the total production is tons.

Ans 2 1. 24000
X 2. 25000
X 330000
V' 427000

Q.41 10 [ o I OF AT ¥ TAT 9iATT ST U §HEgE
cm 3T 6 e ¥ 33 Question ID : 9864492835

TR T FAEET TE HI0T 60° Fl FHAGHS T 9GS F@ HEeT # fbaar Status : Not Answered
N Chosen Option : --

A rectangle having 10 em and 6 cm as its dimensions was reconstructed to make a

rhombus having the same perimeter as that of the rectangle and 60° as one of its angles.

The area of the rhombus, in cm?, was:

Ans X' 1.84/3
v 23243
< 31643
X 42443

Q.42
Question ID : 9864493889

Status : Answered
Chosen Option :2
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fafea B2

o
U F TEEt F FROT AT W ST FHT W EAs 375 7% A A o E

I HATeT:

1.mwgaléaﬁ?a$q§ammwaﬁ%l
2. ¢ 52 ¥ T 2 3= AT A4 E

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Due to potholes in the city a large number of people are unable to reach the airport on
time.

Assumptions:

1. Reaching the airport on time is not necessary.
2. There is no other route to the airport.

Faer g 1 fafga &

Only assumption 1 is implicit

) Faer FgA= 2 At &

| Only assumption 2 is implicit

x FA AT 1T2T ARa ¢
’ Neither 1 nor 2 is implicit

| FE 13 A e E

Both 1 and 2 are implicit

F !

v

x

Q.43

Ans

T TR R A el @ Ol ¥ 3EE v an-aid gl 80 #ew § A
m#nﬁrzoﬁuqﬁrﬂérghmaaama@-aﬁ&aﬁqgaﬁﬁm
HTT9TF AT 2|

Question ID : 9864493624
Status : Answered

. o Chosen Option : 2
If an anchored boat is rocked by waves whose crests are 80 m apart and whose velocity is

20 m/s, then the time required by the crests to reach the boat is .

Q4 g & NTEdr F T FTaaw g wo Far B Question ID : 9864492228

Ans

What is the highest percentage slab for GST in India? Status : Answered
x 1.20% Chosen Option : 2

W 2 28%
X 3.25%
< 4.329%




Q.45 ART 2018 T 3T FAFHN F HTET Mﬂ:g%\ég 7 alert' In Question ID : 9864492417

o I 32
Who is the newly appointed Governor of Bihar as of March 20187

Status : Answered
Chosen Option : 2

Ans M
x1_aéa§?nnmfr

Devandra Kumar Joshi
, BT 9 o
Satya Pal Malik
x5 TH ECiiirCic)
Ram Vilas Paswan
x4 faoT &<

Kiran Bedi

Q.46 T wEia g ek HRpfaET F o R ¥ afedted
gﬁ,ﬂﬁq A a4 w &= Question ID : 9864493894
Sead ATHTT T
2 Status : Answered

Problem Figure: Chosen Option :1

2

Answer Figure:
A B C D
Problem Figure - w27 &

Answer Figures - 3cal Hmpfaal

The following problem figure is embedded in one of the four answer figures. Choose the
correct figure containing the problem figure.

Problem Figure:

2

Answer Figure:
A B C D

Ans «1,(:
X< 2B
X 3D
XA

Q.47 T
Freigresed, N AR @ F qUT 9 FE W 82 Question D : 9864493356
Complete digestion of carbohydrates, proteins and fats takes place in the: Status : Answered

Ans ma. 3'ﬁF|' ﬁ. Chosen Option :1

v
Small intestine

YT H
Stomach
piro il
Oesophagus

X2

X3



) g5 AT H
Large intestine

x

www.govtjobsalert.in

Q.48

sl i mg s I wr s Sraw § @ S #
FT T &7

Sree and Kavi are a couple. Siri and Samyu are sisters. Samyu is the sister of Kavi. How is
Siri related to Sree?

Question ID : 9864494316
Status : Answered
Chosen Option : 4

Ans x 1 T g/ AR 984
Cousin
X2 S:IT&";'
Brother
x s == [ATAT /G AT [arF
Uncle
v Ade/ AT (ATl FAS ST
Sister-in-law
Q.49 250 A =T ¥ e e T Y AT 5% &, R w & v s

Ans

THIA @ AT gl
The amount of glucose required to prepare 250 g of a 5% solution of glucose by mass is:

125 IMH
125¢
12.5 AT
125¢g
50 IAH
50¢g
25 AT
25g

Question ID : 9864493067
Status : Answered
Chosen Option : 2

Q.50 & ¥ gfFa W FEw & A 7w H & & g Funonst 7 ¥ e &

Ans

Fafafea 2

I
oo da1 ve TR FHA 9F FEd §¢ fF 9F agd e § AR aga @

a:mqsr?w%,miﬁ%mﬁaﬁmamﬁ#ﬁvzmm
= ¥ BT wgar B

JEYROM:

1. TR FEAL HEIGE T FEg AT e §
2. W FHAY FOGE F FT T BT TG B

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
A government servant sitting idle tells a visitor to come after 2 weeks to get this certificate
attested, as he is very busy and have a lot of work.

Assumptions:
1. The government servant wants to help the visitor.
2. The government servant is expecting a favour from the visitor.

«1_mqﬁm2ﬁaﬁﬁﬁifl

Only assumption 2 is implicit.

Question ID : 9864494069
Status : Answered
Chosen Option : 3




<
Both 1 and 2 are implicit.

A a1 3R T & 2 s §

Neither 1 nor 2 is implicit.
, e RO 1 At 2

Only assumption 1 is implicit.

x

x

REFL-C qjanuvw\éwwm@%’%?bsale”-'”

Q.51 =g 10kg Feaamer v f&er aFg T 20N o SeMaT S §, & e=wor fhear
grem?

If a force of 20N is applied on a body with a mass of 10kg, what will be the acceleration
produced?

Ans 1. 200m/sec?
v 2 2m/sec?
& 3. 100m/sec?
< 4 5m/sec?

Question ID : 9864493420
Status : Answered
Chosen Option :2

Q.52 ez =mm =€ vE GRER F AR oie, @ gefr § fowe o @ 733650
&

ar sifasw AR & fore affe s=g fhaer &

Expenditure of Family

mFood mHouseRent B Entertainment  Child Education @ Medical M Provident Fund

Expenditure of family- Tfyariys @=r
Provident Fund- 1o faffr  Food- @ew were
House Rent- =X & f&=mar Entertainment- AFR=

Child Education- &==it #T 9a% Medical- Zargar

The chart represents the domestic expenditure of a family per month with total
expenditure being T 33650 then the annual saving for provident fund is:

Expenditure of Family

Enterta
inment

9%

mFood WHouseRent M Entertainment W Child Education M Medical M Provident Fund

Ans X 1. T 48,465
< 2. T 4083
< 3. T 4038
v 4 T 48,456

Question ID : 9864493780
Status : Not Answered
Chosen Option : --

Q.53

Question ID : 9864493235




TaRT 7 § & e m\g%g%/gggv alertln Status : Not Answered

Chosen Option : --

In which of the following permanent tissues are the cells dead?

Ans mm.r
F !
Collenchymas

Tl AT

| Sclerenchyma

TIARTSHT

| Aerenchyma

arr=AT

Parenchyma

>

X3

X 4

Q.54
SIESED P:i %’: Question ID : 9864493565

Status : Answered

The formula of Power is: Chosen Option :4

Ans ENE=1e=r=r!]

<2
displacement/time

X3 AN EAT
momentum/time

v F/AAT
work/time

o seT TR O SO CEE % oSEe -
T A TF 5 e &2 Question ID : 9864492242

Who is the author of the book 'Lone Fox Dancing: My Autobiography’? Status : Not Answered

Ans ﬁ ETE’ Chosen Option : --
v Ruskin Bond
| Ao, ATl
V.S. Naipaul
X 3. ‘ R
Arundhati Roy

X 4 s 2
Shobha De

x

Q.56 fauT TeT SRT & @S H AR, Tk G F GNATT H N g qfE g #:
AT T F BTG & T g, a T B T g F FEs S g7
The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If

the numerical value of the volume of the cube is equal to the numerical value of the area Chosen Option : --
of the square, then the length of one side of the square is:

Question ID : 9864492975
Status : Not Answered

Ans
1 288 TFS

288 units

vz 216 SFS

216 units



x3_103 SHS

108 units

X4.36$EF¢

36 units
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Q.57 afy vegFferaa Fr Faear 3 3 iferderer 1 2 B, 3 vegahfoas siemss
T I

If the valency of Aluminum is 3 and that of Oxygen is 2, then the chemical formula of
Aluminum oxide is:

Question ID : 9864493548
Status : Answered
Chosen Option :2

Ans 3 1. AlO,
< 2. Al;0,
< 3 (Al0)3,,
W 2 AlLQO,
Q.58 HIW %A T g areir 9er %I Question ID : 9864493910
Status : Answered
Chosen Option : 4
giféat st S 1€ @i
FH |9l |gfor | 9E | 9fee | 3w
H
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11

The party that won the least number of seats is

Parties and seats won
Serial | Party | South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 86
3 C &3 71 4 21
4 D 1 7 3 11
Ans X1 (C
X 2B
X3 A
V4D

Q.59

Question ID : 9864492486
Status : Answered




Ans

e TarsTelT o1 oo T 4,200 F HHET AT A7 m%ﬂ#&%\é%ale rt I rLhosen Option : 2

T T A1 FHH e o g

An electric bulb was bought at ¥ 4200 Its value depreciates at the rate of 8%6 per annum
Its value after one year will be:

X 1T 3,684
W2 3,864
X 3T 3,746
X 4. T 3,800

Q.60

Ans

_70 + 28 = (7-3) =7
_70 + 28 = (7-3) =2
X1-105

K2-9

X3 - 69

v - 63

Question ID : 9864492639
Status : Answered
Chosen Option : 4

Q.61

Ans

FHEOT & T v e RESt qur demsit F wue e oiEtda s O
LHS = RHS & =meem|

6x4+2=16

Which of the following signs and numbers should be interchanged such that for the
following expression, LHS = RHS.

6x4+2=16

x1_><a$r+, 16 &r 6 T T
X with +, l6withé
X Fl+, 4 FBFA I
X with +, 4with 6
X P+, 432 FAIT
X with 4+, 4 with 2
X P+, 2 6 FA T
X with +, 2 with 6

2

< 3

X 4

Question ID : 9864493917
Status : Answered
Chosen Option : 3

Q.62 faT 71T FeFdedr 1 T AT FT T8 AN T a7 1 &F ST T (@70) ey

Ans

TaaE H & AR F TREIT T W HJEIOT (AT §) B 2

EELEUH

gt ToAe gaa J angfes e gl sTeey €, R o e & 9=
7Y X 3= B

s

1. RfFear dafas #r e == & [T 39T &5 s il sied
F w0 F w9 = F B w7 5= e
2. 99 7Y X FH F F 0T TSR B TArE i R

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the information given in the statements.

Statements:

Though there is advanced medical facilities available nowadays. still child mortality in
India is high.

Conclusions:

1. Medical scientists should be asked to give up their job and work as doctors to save
lives.
2. The Government has to make efforts to decrease child mortality.

Question ID : 9864493978
Status : Not Answered
Chosen Option : --
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Only conclusion 2 follows.

, 1 3R 2 gt e 3 #
Both 1 and 2 follow.

|1 3 2 gt Jegeor T T E

Neither 1nor 2 follows.

4mﬁw&1m§ﬂmm%|

Only conclusion 1 follows.

v

x

x

x

.63 o
OO O F ¥ FiT T O e F A 6 82 Question ID : 9864493610
Which of the following solutions do not conduct electricity? Status : Answered

w Chosen Option :2
Ans AfETaw egieaEs O

r 0

Sodium hydroxide solution

o = et

Glucose solution
X 3 vfafes ofas o=
Acetic acid solution

x4‘g|3‘;§la?»ﬂﬂ$uﬁ's'a’lar

Hydrochloric acid solution

Q.64 wed B (Problem figure) e & 1w I fa&edr (Answer figures) # foralT .
v # wieafga &1 aasT fF 9eF oy (Problem figure) 37 aR fseul & @ Question ID : 9864493706
frest ot 33 B Status : Answered

; Chosen Option : 3

Problem Figure

5

EEIce

The problem figure is embedded in one of the four answer figures. Which of the four
figures contains the problem figure?

D

Problem Figure

S

Answer Figure

Gl

D

Ans X1D
X2 B
XA
viC

Q.65
Question ID : 9864493223

Status : Answered



TF IEG F 10 WA B B aFs mﬁwﬂgﬁq}%alert I rLhosen Option : 2

U T T&M A & | $HHR Hiafad el gff T &=

An object is placed at a distance of 20 cm from a convex lens of focal length 10 cm. The
image is formed at a distance of:

Ans s HAERT
.Scm

20 §aHET
-20cm

10 HEHET
llﬂcm

15 e

15 cm

Q.66 T 160 HieT W&l & 740 e & G W 40.5 kS FH IR HA §) &F B
aifer = §?
A 160 m long train crosses a 740 m long bridge in 40.5 seconds. What is the speed of the
train? Chosen Option : 2

Question ID : 9864492991
Status : Answered

" 75 feheiieR ufa ger
75 km/h
v, 80 feeiaiiex fd e
80 kmvh
x5 70 feheiteiey ufd eer
70 kin/h
x . 85 feheitdteT ufd eer
85 km/h

Q.67

quoT __ #H 3T TET & ST fFua g 2l Question D : 9864493597

Status : Answered

Testes are located outside the abdominal cavity in the: -
Chosen Option :1

Ans AT
Urinary bladder

v, FSeRrer i
Scrotum

Q.68 Forrer THITAT 36 HFeaTT U8 HiT8l F9=E (AHHH) FT ugar Afger
IR T £7

‘Who is the first female president of National Association of Software and Services
Companies (NASSCOM)? Chosen Option : --

Question ID : 9864492194
Status : Not Answered

Ans afaar AR
b !
Vanitha Narayanan

| 0T AgAer ot
Kiran Mazumdar Shaw

x



Afedsr Afaamma
X 3
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Mallika Srinivasan
( 4.
Debjani Ghosh
Q.69 w3fz = 3@ AT 9% AT Tcat @ WU 37Ses drel WEg AN & .

- Question ID : 9864493489
afEyg TR am . A n
Newlands arranged the then known elements in his table of octaves. S

Chosen Option : 2
Ans X117

v 2 56

< 3 58

< 4 63

Q.70 2w 71w yem W W ¥ R o = & S=hf@e s § ¥ Sa-ar s Question ID - 986443402
o FT 3o 3 F e waTa # uestion 1+
Status : Not Answered
X # AR Fa # fraer wE weem? Chosen Option : -
Fel:
1. X 3 Y & w ary §ER 5 8 R § 5w §
2. X EAR 99 # Y ® 5 97 T sfdw o §
Consider the given question and decide which of the following statements is sufficient to
answer the question.
How long will X take to build the wall?
Statements:
1. X and Y together can build the wall in 8 days.
2. X takes 5 days more than Y to build the wall.
Ans «" 1.
T =TT wee & 3o} &7 & T 1 el qaiieq §, STaiF 2 3Hehell AT oar
Gl
1 alone is sufficient while 2 alone is not sufficient to answer the question.

X2
T =TT wee & 3ecl &7 & I 2 el gaieq &, Suid 1 3ehell 9ATCH oar
2
2 alone is sufficient while 1 alone is not sufficient to answer the question.

X 3.

T T F e A & T arar 1 & & 2 ooea g
Neither 1 nor 2 is sufficient to answer the question.
X
f&T 71T 99T &1 3 & & faw 1 38t 2 @&t 9o #
Both 1 and 2 are sufficient to answer the question.
Q.71
14, 35 3T 56 &1 .9, Fa=r 82 Question ID : 9864492963
. Status : Answered
The LCM of 14, 35 and 56 is: _
Chosen Option : 3
Ans X1.210

v 2 280

# 3. 560

X 4140

Q.72 peqrat & sl 9T TEE Sl ) ECrar -
g & A W (shel)F _____ g Question ID : 9864493092
Non-metals generally contain electrons in their outermost shell. Status : Not Answered

Ans 5,6, 7418
v &)
5,6,7o0r8

Chosen Option :




8,9TT 10
z's,gorm
1,2373
3'1,2mf3
X 4 10718
10 to 18
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Q.73 s F13 #, Ifg SKYJACKING &I AJYKSGNIKC Tor@r airar & ar st &g &
CHEAPJACKS " &% forar smean?

If in a certain code, SKYJACKING is written as ATYKSGNIKC, then how will
CHEAPJACKS be written as in the same code?

Ans o+ PAEHCSKCAJ
< 2 PAAEHCSKCAJ
< 3 PAEHCCSKCAJ
< 4 PAEHCSKAJ

Question ID : 9864494165
Status : Answered
Chosen Option :1

Q.74 oo fgaaier frhe & 19 BT A9F oA T THATT R i §7
‘Who is the only cricketer to score three double centuries in One-Day Cricket?

F ! % W
Virendra Sehwag
V2 g AT
Rohit Sharma
x5 T er
Chris Gayle
AP iR
Ricky Ponting

Ans

< 4

Question ID : 9864492140
Status : Answered
Chosen Option : 2

Q.75 T O A DI AT A Hifore oy 72 1 IO F¥e T U o7 831 9T gia 611
The smallest number by which 72 must be multiplied to obtain a perfect square 1s:

Ans «1_2

X 24
X 38
K46

Question ID : 9864492460
Status : Answered
Chosen Option : 1




